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2. If the line tangent to the curve y = 22 + 3z + 1 at (a,b) passes through the point
(1,4), then the possible values of a are
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3. If h(z) = f(z) g(z), f(0) =1, f'(0) =3, g(0) = 1, and h'(0) = 5, then g'(0) =
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4. The electric resistance of a wire is R = ﬁ, where p is the specific resistance of the

material of the wire, [ is the length of the wire and A the area of a cross-section.
If specific resistance and cross-sectional area are fixed, the rate of change of R with

respect to length is
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6. If the graph of Fis sketched on the right, )
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8. An equation of the line tangent to the graph of x cosy+y cosz = 1 at the point (0,1)
is
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10. If f(z) = cosh 2z, then f"(z) =
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11. T f(z) = vz e® (22 —7)°, then f'(z) =
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12. A mini-baseball diamond is a square ABCD with side 9 meters. A batter hits the ball
at A and runs toward first base B with a speed of 2 m/s. At what rate is his distance
from third base D increasing when he is two-thirds of the way to first base?
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